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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) Y% F7 % G YT ) FHAR TF G F HlA7 |
Solve all parts of a question consecutively together.
(iii) ¥ 5o H 79 78 & IREY Hiford |
Start each question on fresh page.
(iv) @ STeIsT 7 R 817 # IRfa 7 33 srgare & AT 8 |

Only English version is valid in case of difference in both the languages.

1. () Rl emga 3 gammmer % @ fafe |
Write advantages of transposition in overhead lines.
(i) Yfeger aun fom oo vgfa & st sy |
Differentiate between radial and 1'ing111é1i11 distribution system.
(i) Trerfea Rrem-Qees % ey forfiaw |
Write advantages of a suspension insulator.
(iv) U TS i FHHATST |
Explain Ferranti effect.

(v) el hi shH-su fafi & o fafe |

Write names of methods of gradings of cables. (2x5)
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Derive an expression of maximum sag calculation of transmission line taking the
consideration of air and ice effect.

Tsh U1 1§ § HHAE SMHR 250 Hie gl W' |a1a65m09kgﬁmﬁa%w
TR TN 2 B | IFE S W WR 10,000 kg 8 A Arshad $iiel 1 HifC |

The supports at same level in a transmission line are 250 metre apart. The weight
of conductor is 0.9 kg/metre and factor of safety is 2. If maximum breaking
strength is 10,000 kg, then find maximum sag. (6+6) -

RRIaf @l § o aret i SR % frgaue w1 v HINT |
Describe pin type of insulator used in overhead lines.

TS} ST ! GHITFY laﬁa@ﬁﬁﬁmqﬁgaﬁmﬁﬁm?ﬂqﬁ,ﬁmﬁaw
waiwwrﬁaﬁﬁql

Explain string efficiency. Derive the expression of string efficiency, if there are
three suspension insulators in a string. (6+6)

Uk HEY G0 TS S garal a R <t mure ot avia 7 fafy | shife |

Describe the procedure of calculation of efficiency and regulation of a medium
transmission line by ‘T’ method.

Wmmwwmwmmﬁml

Classify electrical transmission lines and explain skin effect. (6+6)

Wﬁiﬁﬁﬁammﬁmmﬁmmmmmﬁql

Derive an expression of voltage drop for a uniformly loaded distributor fed at
one end.

farega ferawor somredt 3 Hiey, foraten @on i g %1 9ol AR |
Describe feeder, distributor and service mains in a electrical distribution system.
(6+6)

siftrra hfereti =t ferem <t farferdi 1 i <hifsre |
Describe methods of laying of underground cables.

wiftrTa Shfsret <hY weeT o1 o wfed avia Hif |

Describe cdnstruction of an underground cable with diagram. (6+6)
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7. (i) U R MUR Y @S B 6 Ry 1 ol Hifvre |

Describe the method of errection of line support.
(i) MR ? IR FA R IANR ? FHHRNAWE ?

What is guarding ? How is it done ? What are its advantages ?

8. Trmfoan w dfira feoaftrat foafiaw : (Reed @ w)
Write short notes on the following : (any two)
() wifers qomTet <1 SNl SIRE
Flow diagram of power system
(i) EET Al 1 T34
Selection of transmission voltage
(iii) LT 91 HT Hfeat &1 ===
Selection of LT and HT cables
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